
2023 

1 20033 

5 6 

 

1 

 
 
 

 

2 

 

 
11 

15
 

3 16 

 

 

 
4 

 
 

 
 
 
 
 
 
 

 
 
 
 
 
 

ITEM NO. PART NUMBER DESCRIPTION QTY. 

1 FX20945 Muzzle Thread Cover Dynamic 1 

2 FX21754 Muzzle adaptor DRS 1 

3 FX19950 O-ring14,0x2,0 NBR70 2 

4 FX21728 Tube DRS 1 

5 FX19969 Liner lock .22 1 

6 FX19973 Barrel housing 14x1x435mm 1 

7 FX19965 STX Liner .22 500mm Superior 1 

8 FX21603 Barrel inlet .22 DRS 1 

9 FX5167 O-ring 10,5x1,5 NBR70 2 

10 FX19726 O-ring 5,5 x 1,5 NBR70 1 

11 FX19485 O-ring 23,0x2,5 NBR70 2 

12 FX19955 Grub screw M8x6 1 

7 

 

3 

 
9 10 

 

8 

 
 
 
 

48 

27 

47 

46 

13 

45 

 
 

 
 
 
 
 
 
 

 
60 

 

 
 
 
 

 
11 

 
12 

 
 
 

 
 
 
 
 
 

 

 
44 

 
 

 
30 

43 

 

 
49 

 
 

 

 
 

 

 
13 56 

 
14 

 
 
 
 
 

 

 
 
 
 

 
42 

18 

 
 
 

17 

 
19 

21 

20 

 
 

22 

23 

 

24 

25 

28 

29 

31 

 
 
 
 

39 

 
40 32 

 
41 

 

 
 
 
 
 
 
 

 
 
 
 
 

26 

 
 
 

27 

 
30 33 

34 

 

 
35 

 
36 

 

37 

 
 

38 

13 FX2501 Cup point grub screw M4x6 2 

14 FX19716 Grub screw M4x25 1 

15 FX21780C Dovetail to Picatinny rail low 1 

16 FX2527 Socket head cap screw M3x10 3 

17 FX16100 Magnet 3x5 1 

18 FX19611 Side lever handle B2-WC-IM 1 

19 FX20064 Sidelever Dreamline 1 

20 FX11060 Socket head cap screw M3x18 1 

21 FX11200 Safety knob 1 

22 FX11625 Safety lever 27,5mm 1 

23 FX2562 Cup point grub screw M3x3 1 

24 FX19034 Grub screw M3 - Special 1 

25 FX21725 Barrel housing DRS 1 

26 FX21733 Fillprobe MKIII 1 

27 FX5190 O-ring 3,0x1,5 NBR70 3 

28 FX19213 Cylindrical pin 2h6x10 1 

29 FX20919 Pellet Probe .22 Dynamic 1 

30 FX16092 Grub screw M3x4 4 

31 FX21730 Carrier DRS 1 

32 FX19490 Cylindrical pin 3h6x14 1 

33 FX19026 Cylindrical pin 2,5m6x6 1 

34 FX19935 Linkage Crown 1 

35 FX19039 Hammer v7 

36 FX11540 Hammer weight 1 

37 FX2604 Hammerspring 52mm 1 

38 FX11541 Hammer spring adjuster 1 

39 FX11501 Spring 0,5x2,5x6,1 1 

40 FX4066 Steel ball 3mm 1 

62 57 

 

 
 

 
 

 

 
 

58 

 
 
 

 
61 

 
45 

60 

50 

 
 

 
 
 
 
 
 

51 53 

 
52 

 

54 

 
 
 

 
49 50 

41 FX20394 Trigger Sear Dreamline, Crown 1 

42 FX20056 Safety Pivot Bullpup 1 

43 FX11502 Cylinderical pin 2h6x20 3 

44 FX19720 O-ring 10,0x1,0 NBR90 1 

45 FX19774 Pressure Gauge 23mm 250bar 1 

46 FX19329 Inlet valve rod "gold" 1 

47 FX5165 O-ring 3,0x1,2 NBR70 1 

48 FX21732 Brass plug DRS 1 

49 FX21731 Plug for DRS Plenum 3 

50 FX19226 O-ring12,0 x 2,0 NBR70 3 

51 FX21729 Magazine Plenum DRS 

52 FX5185 Countersunk screw M5x18 1 

53 FX15008 Straight Trigger Guard 1 

54 FX11622 Screw coned 4,2x16mm 1 

55 FX5193 Screw M4x18 4 

56 FX10374 Second stage trigger screw M5 1 

57 FX2183 Pellet Plenum DRS 1 

58 FX21782 SPH Plenum DRS 1 

59 FX19715-1 Socket head cap screw M3x5 1 

60 FX19035 Plug 1/8'' 1 

61 FX2536 Screw M4x30 4 

62 FX5166 O-ring 8,0x1,5 NBR70 1 

 

55 

 
 

1 

 
 

 

2 ITEM NO. PART NUMBER DESCRIPTION QTY. 

1 FX10335 Brass Adapter 1 
3 

2 FX19109 O-ring 4.0x1,5 NBR70 2 

4 3 FX2570 Washer 10x4,2x0,5 8 

4 FX19790 O-ring 10x1,5 NBR 90 1 

5 5 FX19697-1 Regulator Housing 2 

6 FX19225 O-ring 7,5x2,0 NBR70 1 

7 FX20400 Plastic Gasket for Piston 1 
6 8 FX19731 O-ring 2,0x1,0 NBR90 1 

7 
9 FX19695 Regulator Screw 1 

8 

9 

 
 

2 

3 
 

1 

9 
ITEM NO. PART NUMBER DESCRIPTION QTY. 

Triggercatch Dreamline, 
10  Standard 

2 FX11525 Trigger Wheel 1 

8 4 3 FX11504 Spring 0,32x3,2x14,4 1 

4 FX11508 Grub Screw M3x10 1 

5 FX19809 Trigger pin 1 

6 FX19136 Adjustable trigger blade 1 

5 7 FX12035 Grub screw M2,5x2,5 1 

8 FX2504 Countersunk screw M3x6 1 

9 FX19742 Grub screw M3x8 1 

10 FX11062 Adj screw second stage 1 
7 

6 

 
1 

2 

3 7 
8
 

4 
9 

10 

 
 

5 

 
6 

 
 

ITEM NO. PART NUMBER DESCRIPTION QTY. 

1 FX5158 O-ring 3,5x1,0 NBR70 1 

2 FX19108 O-ring 8,0x1,0 NBR90 1 

3 FX20923C Valve seat Dynamic 1 

4 FX20924C Valve pin Dynamic 1 

5 FX20926 Valve seal Dynamic 1 

6 FX19850 Spring 0,5x4,0x20 1 

7 FX20959 Spring seat 3,1mm Dynamic 1 

8 FX5166 O-ring 8,0x1,5 NBR70 1 

9 FX15016 O-ring 2,9x1,78 NBR70 1 

10 FX21726 Valve Housing DRS 1 

Go to the list and click to go directly to the spare part at the webshop!  

Worldwide shipping! 
To find out more visit https://europeairguns.com 
If there is a spare part that is missing, please contact us here: https://europeairguns.com/en/contact-us 

FX20333 
9
 

Match Grade Trigger DRS 
Complete 

 

FX21783 Pellet plenum Kit DRS 

 

FX21782 Magazine Plenum kit DRS 

 

1 

https://europeairguns.com/en/barrels-and-magazines/liner-locker
https://europeairguns.com/en/barrels-and-magazines/tube-14x1x435mm
https://europeairguns.com/en/silencers/muzzle-thread-cover-dynamic
https://europeairguns.com/en/silencers/muzzle-adaptor-drs
https://europeairguns.com/en/or-rings-fx/o-ring-2300-x-250--nbr70
https://europeairguns.com/en/stocks-bipods-and-holders/low-picatinny-rail-30moa
https://europeairguns.com/en/or-rings-fx/o-ring-1400-x-200-nbr70
https://europeairguns.com/en/fx-spare-parts/side-lever-handle-b2-wc-im
https://europeairguns.com/en/search?controller=search&s=Tube+DRS
https://europeairguns.com/en/search?controller=search&s=Tube+DRS
https://europeairguns.com/en/silencers/muzzle-thread-cover-dynamic
https://europeairguns.com/en/silencers/muzzle-adaptor-drs
https://europeairguns.com/en/or-rings-fx/o-ring-1400-x-200-nbr70
https://europeairguns.com/en/or-rings-fx/o-ring-1400-x-200-nbr70
https://europeairguns.com/en/search?controller=search&s=Tube+DRS
https://europeairguns.com/en/barrels-and-magazines/liner-locker
https://europeairguns.com/en/barrels-and-magazines/liner-locker
https://europeairguns.com/en/barrels-and-magazines/tube-14x1x435mm
https://europeairguns.com/en/barrels-and-magazines/tube-14x1x435mm
https://europeairguns.com/en/barrels-and-magazines/liner-superior-standard
https://europeairguns.com/en/barrels-and-magazines/barrel-inlet-22-drs
https://europeairguns.com/en/or-rings-fx/o-ring-1050-x-150-nbr70
https://europeairguns.com/en/or-rings-fx/o-ring-550-x-150-nbr70
https://europeairguns.com/en/or-rings-fx/o-ring-2300-x-250--nbr70
https://europeairguns.com/en/screws-springs-and-pins/grub-scrub-m8x6mm
https://europeairguns.com/en/barrels-and-magazines/liner-superior-standard
https://europeairguns.com/en/or-rings-fx/o-ring-1400-x-200-nbr70
https://europeairguns.com/en/or-rings-fx/o-ring-1050-x-150-nbr70
https://europeairguns.com/en/or-rings-fx/o-ring-550-x-150-nbr70
https://europeairguns.com/en/or-rings-fx/o-ring-300-x-120-nbr70
https://europeairguns.com/en/screws-springs-and-pins/grub-screw-m4x6
https://europeairguns.com/en/or-rings-fx/o-ring-2300-x-250--nbr70
https://europeairguns.com/en/screws-springs-and-pins/grub-scrub-m8x6mm
https://europeairguns.com/en/or-rings-fx/o-ring-800-x-100-nbr70
https://europeairguns.com/en/screws-springs-and-pins/grub-screw-m3x4
https://europeairguns.com/en/screws-springs-and-pins/cylindrical-pin-2h6x20
https://europeairguns.com/en/screws-springs-and-pins/grub-screw-m4x6
https://europeairguns.com/en/fx-spare-parts/side-lever-handle-b2-wc-im
https://europeairguns.com/en/fx-spare-parts/side-lever-dreamline
https://europeairguns.com/en/screws-springs-and-pins/socket-head-cap-screw-m3x18
https://europeairguns.com/en/screws-springs-and-pins/cup-point-grub-screw-m3x3
https://europeairguns.com/en/screws-springs-and-pins/screw-m3-special
https://europeairguns.com/en/screws-springs-and-pins/cylindrical-pin-25h6x10
https://europeairguns.com/en/barrels-and-magazines/pellet-probe-dynamics
https://europeairguns.com/en/screws-springs-and-pins/spring-05x25x61
https://europeairguns.com/en/fx-spare-parts/steel-ball-3mm
https://europeairguns.com/en/fx-spare-parts/trigger-sear-dreamline-crown
https://europeairguns.com/en/pcp-pumps-regulators/fillprobe-mkiii
https://europeairguns.com/en/screws-springs-and-pins/grub-screw-m3x4
https://europeairguns.com/en/screws-springs-and-pins/cylindrical-pin-25m6x6
https://europeairguns.com/en/fx-spare-parts/linkage-crown
https://europeairguns.com/en/fx-spare-parts/hammer--v7
https://europeairguns.com/en/fx-spare-parts/hammerweight-6mm-1260g
https://europeairguns.com/en/screws-springs-and-pins/hammerspring-52mm
https://europeairguns.com/en/fx-spare-parts/hammerspring-adjuster-55
https://europeairguns.com/en/screws-springs-and-pins/grub-screw-m4x6
https://europeairguns.com/en/stocks-bipods-and-holders/low-picatinny-rail-30moa
https://europeairguns.com/en/stocks-bipods-and-holders/low-picatinny-rail-30moa
https://europeairguns.com/en/screws-springs-and-pins/socket-head-cap-screw-m3x10
https://europeairguns.com/en/fx-spare-parts/side-lever-handle-b2-wc-im
https://europeairguns.com/en/fx-spare-parts/side-lever-dreamline
https://europeairguns.com/en/screws-springs-and-pins/socket-head-cap-screw-m3x18
https://europeairguns.com/en/screws-springs-and-pins/cup-point-grub-screw-m3x3
https://europeairguns.com/en/screws-springs-and-pins/screw-m3-special
https://europeairguns.com/en/fx-spare-parts/barrel-housing-drs
https://europeairguns.com/en/pcp-pumps-regulators/fillprobe-mkiii
https://europeairguns.com/en/screws-springs-and-pins/cylindrical-pin-25h6x10
https://europeairguns.com/en/barrels-and-magazines/pellet-probe-dynamics
https://europeairguns.com/en/screws-springs-and-pins/grub-screw-m3x4
https://europeairguns.com/en/screws-springs-and-pins/cylindrical-pin-25m6x6
https://europeairguns.com/en/fx-spare-parts/linkage-crown
https://europeairguns.com/en/fx-spare-parts/hammer--v7
https://europeairguns.com/en/fx-spare-parts/hammerweight-6mm-1260g
https://europeairguns.com/en/screws-springs-and-pins/hammerspring-52mm
https://europeairguns.com/en/fx-spare-parts/hammerspring-adjuster-55
https://europeairguns.com/en/screws-springs-and-pins/spring-05x25x61
https://europeairguns.com/en/fx-spare-parts/steel-ball-3mm
https://europeairguns.com/en/screws-springs-and-pins/socked-head-cap-screw-m4x30
https://europeairguns.com/en/fx-spare-parts/triggerguard-hw98
https://europeairguns.com/en/screws-springs-and-pins/countersunk-screw-m5x18
https://europeairguns.com/en/fx-spare-parts/trigger-sear-dreamline-crown
https://europeairguns.com/en/screws-springs-and-pins/cylindrical-pin-2h6x20
https://europeairguns.com/en/or-rings-fx/o-ring-1000-x-100-nbr90
https://europeairguns.com/en/or-rings-fx/o-ring-300-x-120-nbr70
https://europeairguns.com/en/screws-springs-and-pins/countersunk-screw-m5x18
https://europeairguns.com/en/fx-spare-parts/triggerguard-hw98
https://europeairguns.com/en/valves-valves-valves-and-plenum-seats/hp-plenum-kit
https://europeairguns.com/en/valves-valves-valves-and-plenum-seats/shp-plenum-kit
https://europeairguns.com/en/screws-springs-and-pins/socket-head-cap-screw-m3x5
https://europeairguns.com/en/screws-springs-and-pins/socked-head-cap-screw-m4x30
https://europeairguns.com/en/or-rings-fx/o-ring-800-x-50-nbr70
https://europeairguns.com/en/screws-springs-and-pins/brass-adapter-impact-m3
https://europeairguns.com/en/or-rings-fx/o-ring-400-x-150--nbr70
https://europeairguns.com/en/screws-springs-and-pins/brass-adapter-impact-m3
https://europeairguns.com/en/fx-spare-parts/washer-10x42x05
https://europeairguns.com/en/or-rings-fx/o-ring-400-x-150--nbr70
https://europeairguns.com/en/or-rings-fx/o-ring-1000-x-150-nbr90
https://europeairguns.com/en/fx-spare-parts/washer-10x42x05
https://europeairguns.com/en/or-rings-fx/o-ring-1000-x-150-nbr90
https://europeairguns.com/en/pcp-pumps-regulators/regulator-house
https://europeairguns.com/en/pcp-pumps-regulators/regulator-house
https://europeairguns.com/en/or-rings-fx/o-ring-750-x-200-nbr70
https://europeairguns.com/en/pcp-pumps-regulators/plastic-gasket-wc3regulator-p
https://europeairguns.com/en/or-rings-fx/o-ring-750-x-200-nbr70
https://europeairguns.com/en/or-rings-fx/o-ring-200-x-100-nbr90
https://europeairguns.com/en/pcp-pumps-regulators/plastic-gasket-wc3regulator-p
https://europeairguns.com/en/pcp-pumps-regulators/regulator-screw-impact
https://europeairguns.com/en/or-rings-fx/o-ring-200-x-100-nbr90
https://europeairguns.com/en/pcp-pumps-regulators/regulator-screw-impact
https://europeairguns.com/en/pcp-pumps-regulators/regulator-screw-impact
https://europeairguns.com/en/fx-spare-parts/trigger-wheel
https://europeairguns.com/en/screws-springs-and-pins/spring-1st-stage
https://europeairguns.com/en/fx-spare-parts/triggercatch-dreamline-standar
https://europeairguns.com/en/fx-spare-parts/triggercatch-dreamline-standar
https://europeairguns.com/en/screws-springs-and-pins/second-stag-trigger-screw-soft
https://europeairguns.com/en/fx-spare-parts/triggercatch-dreamline-standar
https://europeairguns.com/en/fx-spare-parts/trigger-wheel
https://europeairguns.com/en/screws-springs-and-pins/countersunkscrew-m3x6
https://europeairguns.com/en/screws-springs-and-pins/grub-screw-m3x10
https://europeairguns.com/en/screws-springs-and-pins/spring-1st-stage
https://europeairguns.com/en/screws-springs-and-pins/grub-screw-m3x10
https://europeairguns.com/en/fx-spare-parts/trigger-pin
https://europeairguns.com/en/fx-spare-parts/adustable-triggerblade
https://europeairguns.com/en/fx-spare-parts/trigger-pin
https://europeairguns.com/en/screws-springs-and-pins/socket-head-cap-screw-m25x25
https://europeairguns.com/en/screws-springs-and-pins/countersunkscrew-m3x6
https://europeairguns.com/en/screws-springs-and-pins/grub-screw-m3x8
https://europeairguns.com/en/screws-springs-and-pins/second-stag-trigger-screw-soft
https://europeairguns.com/en/screws-springs-and-pins/socket-head-cap-screw-m25x25
https://europeairguns.com/en/fx-spare-parts/adustable-triggerblade
https://europeairguns.com/en/or-rings-fx/o-ring-350-x-100-nbr70
https://europeairguns.com/en/or-rings-fx/o-ring-800-x-100-nbr90
https://europeairguns.com/en/valves-valves-valves-and-plenum-seats/valve-seat-dynamic-complete
https://europeairguns.com/en/fx-spare-parts/spring-seat-31mm-dynamics
https://europeairguns.com/en/or-rings-fx/o-ring-800-x-50-nbr70
https://europeairguns.com/en/valves-valves-valves-and-plenum-seats/valvepin-complete---panthera
https://europeairguns.com/en/or-rings-fx/o-ring-29x178-nbr70
https://europeairguns.com/en/pcp-pumps-regulators/valve-housing-drs
https://europeairguns.com/en/screws-springs-and-pins/spring-05x4x20
https://europeairguns.com/en/or-rings-fx/o-ring-350-x-100-nbr70
https://europeairguns.com/en/or-rings-fx/o-ring-800-x-100-nbr90
https://europeairguns.com/en/valves-valves-valves-and-plenum-seats/valve-seat-dynamic-complete
https://europeairguns.com/en/valves-valves-valves-and-plenum-seats/valvepin-complete---panthera
https://europeairguns.com/en/screws-springs-and-pins/spring-05x4x20
https://europeairguns.com/en/fx-spare-parts/spring-seat-31mm-dynamics
https://europeairguns.com/en/or-rings-fx/o-ring-800-x-50-nbr70
https://europeairguns.com/en/or-rings-fx/o-ring-29x178-nbr70
https://europeairguns.com/en/pcp-pumps-regulators/valve-housing-drs
https://europeairguns.com/en/fx-spare-parts/triggercatch-dreamline-standar
https://europeairguns.com/en/screws-springs-and-pins/grub-screw-m3x8
https://europeairguns.com/en/fx-spare-parts/match-grade-trigger-drs
https://europeairguns.com/en/fx-spare-parts/match-grade-trigger-drs
https://europeairguns.com/en/valves-valves-valves-and-plenum-seats/hp-plenum-kit
https://europeairguns.com/en/valves-valves-valves-and-plenum-seats/shp-plenum-kit

